N
W l\ =
R, = L Ax
:@30 M cmgu)-i- (‘560 mi $'rn1;°>
pomts To right Fo'mjrs 1 lefd
= 527 wL
by = Zhy

= ]330 mt S‘MSU + 560 m en2)” both Po'mf “

=596 mu

R :.\ RxL‘f'Rl}- = \/@ﬂm'u )11‘ (556""&)1 =788 miles

B:tm"ﬁ:f“‘iﬂz y
R)& o g)_') o 'ta/q (/1”)

= g

Clqlcaﬁo o 188 milea 48 N ot E fromr Daflag



O = \/ogrtl'r '%_ajttl
O: -ti (\/031-1- 'l;_ﬁjtl)

tf'o or -tl = Z zav‘"g__l

J
= =2 (25 my $m] o
- 9.80 M/S.t
= hgos
\:W @ ijz"'Vo Sm20°
&j: —9.80 mA® At=1,-1t,
AY, =0 = g =17y
Want t:. = 3,06S
b1
ddao war Ax =y, t+ia t
bpz =2V o —206migoma” o,

H —?|9 m}SL



